Fast Fourier transform (FFT)

And examples of how to compute things quickly

Herman Kamper
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Fast Fourier transform (FFT)
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The FFT and DFT lead to precisely the same result. They differ only in the way that

they are calculated.



Decimation in time ..
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Eight-point DF

EVEN SAMPLES BUTTERFLY COMPUTATIONS

- x 0]7\<Ct1 =%, 0e) + WS %, CE)

- N
:cu- k= Q)\) “ney _i—\

- (W
:‘Qr k.—- D)\) s,,)-i-._‘

~paint ~— X, 0]
DbET \ l — (tl-&

+ X&)

';CCL.}'—""P BFT X 3]




Four-point DF

EVEN SAMPLES BUTTERFLY COMPUTATIONS
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Computational complexity
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In-place computation of the FF

Decimal index

Binary index

Bit-reversed index
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Decimation in frequency
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Summary

Decimation in time:
e Split z[n] into even and odd parts
e Helpers: Xi[k] and X5 [K]

e Input: Bit-reversed ; Output: Nice

Decimation in frequency:
e Split X[k] into even and odd parts
e Helpers: x1|n] and z3[n|

e Input: Nice ; Output: Bit-reversed
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Calculating IFF
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What to take away

e Some technical tricks
e Divide and conquer: Store intermediate results and use them later

e You need to understand implications of the tricks:

o When can you (not) use in-place computations?
o Why radix-27

o Why are things slower with np.fft.fft when the input is not radix-27



